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Unit 1

came that our team had won the championship.
A. Word - B. Words : C. . The words D. A word
The photos portray women from all of life, including performers and career women.
A. walks B. walk C. walking - D. walkings
The man who has is fit for this job. ;
A. brain B. the brain C. a brain D. brains
We have installed to improve the efficiency of our research work.
A. an equipment B. a piece of instrument:
C. a new piece of equipment D. a piece of new instrument
The + - is just around the corner, and you won’t miss it.
A. bicycle’s shop B. bicycle shop - C. -bicycles shop D. bicycles’ shop
Many . in this bank speak English quite well. .
A. lady clerks B. ladies clerks C. women clerks . D. both Aand C
They were not enough to admit their mistakes.
A. men B. people - C. man D. gentleman
No matter what difficulties may come , we must never give up.
A. the way B. the path C. our way D. our paths
As far as the could see all was - and green .
A. eyes ... flowers ... field B. eye ... flowers ... fields
C. eye ... flawer ... field. ' D. eyes ... flowers ... fields
Bob seems to have too ‘ and too .
A. many mouths ... few ears B. big mouth ... small ear
C. much mouth . .. litile ear D. litle mouth ... big ear
This is where of the Amazon flow out into the sea.
A. the waters ' B. the water C. waters D. water
The farmers suffered great losses from the bad crops 'yet they didn’t lose
A. heart B. the hearts C. their hearts D. the heart
The are questioning the two .
A. polices . . . thiefs B. policemen . .. thiefs
C. police ... thieves D. policeman ... thieves
The electrician checked all electrical equipment to prevent any possible failure.
A. power B. light C. energy D. electricity



15. These trees were planted, and those were hand planted.

A. mechanics B. machinery C. mechanic D. machine
\iE(1): &R
RMEG: (5) The is just around the corner, and you won’t miss it.

A. bicycle’s shop B. bicycle shop C. bicycles shop D. bicycles’ shop %% B, &A%
W, RA AR, ALK T, HB5HEH 6 44, B bicycle 44 shop,

HEIRER: 1. AL EE, ﬁ&f@‘ﬁ%*ziﬂﬂﬁ%&%xﬁ'ﬂ;,&ﬂ@j office, lunch
time, shoe factory, flower shop %,

2. MBAKF KEFH F—XEANY ZRF,NLERM’s &7 ,4= two X’s, three A’s,
too many but’s, in his 50’s, 3 do’s and 3 don’ts( =& = R &) [ {2 % don't’s # X ], Mind your
p’s and ’s. (i EEHLE ) [ please’s F» excuse me’s 9 45588-1,1990°s[ 1990s &9 # B ik R R F 4
4% 12 B ITERAT]

3. ¥A man #* woman & & 9 f.’b"ﬁ] “ﬁﬁlﬁﬁtﬂ%ﬁﬂﬁﬁk men #= women, & #) & 2 2,
12 ¥ i3 6] 5, B #8id 39 B fm s 8%, , 4 Germans, Romans %, -

4. AR THE LA LT THRATH, % hair( £, K ) R 7T#,The man has grey
hair now. (BANAARLE KR EEEO)REZE TN —BRRSRLEL, W){l'f& There are
a few white hairs on his head. (#.k LA LR G K ) .

5. work( T4%), &€ %) 4 A% 73 homework ( 4 3k ) , housework ( & %) % WA RTH, 12
work & FAE Lot , 0 4 7T 3, 4ea work (works) of art( —#-( 34 ) LA &k), works( L), L
#2i%36) A E Z B F 4o one (two) steel works(—( ) R4A4) ),

6. money(4X) 4 Ak, R TH, FE,change( B, & k) RTH#, %5, 4’5“%% %
& @Y equipment ¥ 5T ¥ % 33, ¥ instrument 5T # & 3,

7. vAs # R means( F ik, FH), LA KB, T A F B, 4= all means ﬁi& every
means 4 # 4 , series( & 5], £ 5|2 —) ,species( HFF) F LAt

8. AELMANEMRIMARKEL, LHEH: word(#ET,HE), eye(E&E, L
) ,mouth( X B3, B 35) ¥ ; L HEH]: waters(/K3K),brains (2 ), nerves (K %, 2
i), futures (A5 ) F .

9. A% %14, /6 @ F 3k enough, $54L 4 F 5 14, 4= He is friend ( A %F49) enough to give
me timely help. #» You are man ( & FiX &% #4)) enough to face the difficulties.

10. L THAA A FH XFH &9, R J5 & 4 35 78 #5852, 4ehand make, machine
plant, computer control, bottle feed ( F #i9&) % ¢
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| Unit 2

P
His daughter is always shy in and she never dares to make a speech to
A. the public ... the public B. public ... the public
C. the public ... public D. public ... public -
I am at least age Robert if I am ot older ‘than he. W
A. the same ... as B. in the same ... as
C. as same ... as D. same ... with
— Where’s nearest bookstore?
— There’s one at end of the street.
A. the ... an B. a... the C. the ... the D. a... an
My mother is usually on duty in her office every few days."
A the... a B./...a C. a... the D/ /
Most of boys in our class are interested in biology. S
A /... / ‘B. the ... / C. /... the D. the ... the
The doctor told me to stay for at least three days because of my illness.
A in hy bed B. in bed C. in the bed D. in a bed
This math exercise is most difficult exercise, but it isn’t most difficult
one to work on this time. ,
A a... the B. the ... the C the... a D.a... a
The student who receives highest score will be awarded scholarship. .
A /... / B. /... the C. the... a D. the... / =
The furniture on display is on sale for half price.
A /... 7/ B. /... the . C. the... / *+ D, the... the
What did you do last night? - i
A. on earth B. in world C. on the earth D. on the world
Paper money was in use in China when Marce Polo visited the country
in thirteenth century.
A the... / B. the ... the C. /... the D./.../
We saw one-act play in our school’s auditorium.
A a B. an C. 7/ D. long
Africa and Asia are separated by Suez Canal.
A a ' B. / C. the D. one
On Children’s Day, all parks in the city were crowded with children.

. 3.



A /... the B. /... 7/ C. the ... the D. the... /

15. A thief is a danger to
A. society B. the society C. societies D. a society

E%(2): B

K Bi%EH: (11) Paper money was in use in China when Marco Polo visited the
country in thirteenth century. A. the .../ B. .the... the C. /... the
D. /.../ %%C, §—FHARAZNA, Elﬁ(be) in use 7531% ﬁ——’iﬁﬁ-i%ﬁ] the,
) ﬁ}% lﬁiﬁ‘&ﬂ thirteenth,,

HER: L AFTRBILR”, 4% A Z 414 the, 4= try the second time (X =) ,{2
B ‘T,ﬁ.ﬁﬁ] R EZZ7 a(n), 4w try a second time, A3 74 third, fourth ¥ F1 2, TEM A4 %
(= E W REHX—K

2. A Day 5% 8 Z’ﬁ‘ﬁ'f 3] 1 £ & R 4w the, %= Christmas (Day) , May Day, Children’s
Day, National Day %,

3. space( K &) K AnE 3 sthe universe( F % ) EmE Z4, space( W) — A RTH,
LR A, 128 B T3 B3 B a, T A A T fedu 4, 4= He couldn’t find a
parking space. /The space of the room is insufficient. /Leave two spaces after a full stop. ( ’7 T
THH,) ‘

4. 3 iEh R KA E 8 F L E, 4o all of a sudden( T K ),at a time(FHF—KH) ,in a
word( ) T %) % A R £ 579 ;in the moming, in the end, in the distance (£ &), in the
fields( 2 ¥ %F ) % Ju % 53 ; at noon, under way (£ # 47 %), in hospital ({ & B ) % K #w
A,

5. —#& the FRZ £1K , 4= three of us( K17 ‘Pé‘J,./\) [ &M RIEL=A],the three of us( %
MEA) [ HKMLA =A], 42 all three of us(KAMNZA) [ RAMUH ZA 128 T all RBR R
fhm the],

6. society( #:4-) — & K Ao F 33, B 4% ) K F7 38, 4ma socialist society Fethe new( &, old)
society,

7. EEAFTEALN LA, A TR RLA every, each & per 943, 4» Gasoline is sold by
the gallon. (A L HE,)

8. turn( & get) FH“ iﬁa”ﬂf:‘&%aﬁw,éﬁﬁii&%/zwxm%ﬁ,&n He turned
writer in his thirties. 12 % 3 3§ & & # 2238 45-4% , B & /m & 4 , 4 He turned a good fellow at last.
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Unit  3,

Mr. Alcott, headmaster of the school, refused to accept . of the three suggestions
made by the Students’ Union.
A. either B. neither C. any D. none
I've read English for twenty minutes. I want to read minutes.
A. a few more B. more a few C. a little more D. more a little
Mr. Zhang gave the textbooks to all the pupils except who had already taken
them. : : : :
A. the ones . B. ones C. some D. the others
We can do it better than . .
A. him and her B. he and she C. hisand hers *© D. he and her
He considered right to go together with us.
A. that B. him C. it - D. himself
-— Do you speak Japanese or Russian? '
~— I don’t speak . That is to say I speak neither of the two languages.
A. both B. either C. all : D. none
. I like some of them.
A. Either book is good B. Both of the books are not good
C. Not all the books are good D. None of the books is good
There is very hope that our team will win the game.
A. little B. alittle C. small . D. few
cannot be denied that Mary is the most diligent student in her class.
A It B. That C. There . D. This
One should always be careful of health.
A. his . B. her ‘ C. their D. one’s
of the two brothers is satisfied with the result. '
A. Both B. Either C. Every D. None
I have already spent one week at the summer camp, and I will stay for weeks,
A. else two B. other two . C. more two D. another two

His answer to this maths problem seems to be the same as
A. yourself B. yours - C. you - D. your
— Are the new rules working? :

— Yes, books are stolen.



A. Few B. More C. Some D. None

15. I can’t believe that the teacher blamed students for the failure of the experiment.
A we B. our C. us D. both B and C
Bk (3): KR

R iEB]: (14) Are the new rules working? — Yes. books are stolen. A. Few

B. More C. Some D. None E& A, BELTXEE, it Few(iRY,JLFEEF),BP#
AU RARE, BHER I K5, Hr D, B %4 None T 884 & 351545 books,# No F Tk,

HIRER: 1. by oneself (1% § 3 ) , 4= Julie made the experiment by herself; for oneself ( #
B 3) , 4= If you don’t believe me, you can go and see it for yourself; of oneself( £ 3h3&) , 4= The
door won’t close of itself; to oneself (%% 3) , 4 I have the bedroom to myself.

2. BXEIBEMH(BAE) P,it B ELRSH, 124 K4k, 4 The train won’t leave
for another ten minutes, so I think we can make l_t( #t k). /The swimmer made it tothe other
bank (3%ik #& # ) despite the waves.

3. that & this, /£ ¥ X 3£ & % M 458193, K% so, 4w [ know only that much. ( 3% R 4eif
4ot % ,)/He can’t walk this far. (#e R AR LR ,)

4. many & L3 4R 49 53R 98 X ¥ many more, % R & much more, 3t A 1] A ik, 4o [ have
many friends, but he has many more (friends) than L

5. few #o little §9 — 2425 BB A %k & L, LK, 4 quite a few(48% £ ), quite a
little(#8% %), a good few(#8% %), notafew( R, %), not a litle(R ¥, % ), no lit-
tle(#¥ %)% . Bit,I'm not a little (no little) tired. ( %3k ¥ E %) # I'm not a bit tired. ( %%
— SR EE) KA KA,

6. one E“X(£Z)—" M, M that “M(AEKY)—(MN)"B, EALALTXPAR

#),4= A desk made of steel is stronger than one made of wood. /There are two desks here. The

desk made of steel is stronger than that made of wood. ;. ‘

7. ZELEAFTLHTE LM, not ... either # neither ... &L A8 F], 4= He didn’t read
either of the novels. % F He read neither of the novels. ¥4 “ @I \JHAEA FHL” #,

8. RL“HI(IUA)” ¢4 %3E A another (... ) & (... )more, 4= I want to have another
two books. /I want to have two more books. (K FEHA$H,) ‘

9. E@AH of... H4at,every one 1 4 7 5 ,none 45, 4wEvery one of the students
attended the lecture. [ 7%t A} Everyone & Everybody ]/None of them is fond of music. [ K /8
No one],

10. some A k164 7T £ 35 £ ¥ #t, E Fl a certain, ¥ “ ¥ —” #, %= The professor is
expecting some student( F/4 X A5 4) in his office.

11. % =& “How many (much) + 24k ¥ 4" &5 ¥ M et, A none £ & F“—A(H 2 )&
& %" ,4wHow many books are there in the desk? — None. ( There are none. ) ; % & 2 “ Who
(What) ” &4 19 # &} , B] nobody( nothing) & & 7 “ XA HEATA (K &)”, 4 Who is in the class-
room? — Nobody. (No ene. )/What is in the desk? — Nothing.

. 6 .
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It cost me five yuan to buy

A. two dozen egg B. two dozen of egg

C. two dozen eggs D. two dozens of eggs

— Where did the great poet live when he stayed in Paris.

— He lived in a old house. }

A. three hundreds years B. three hundred years

C. three-hundred-year D. three hundreds year

There is someone on who wants to speak with the manager.

A. 2 line B. 2nd line C. line 2 D. the line 2
Ten plus four or ten make fourteen.

A. with four B. adding four C. and four D. added four
It was not rare in that people in fifties are going to university for further
education. .

A. 90s ... the B. the90s ... /

C. 90s ... their D. the 90s ... their

— Will it rain tomorrow?

— Yes. it will.

A. Ten to one B. One to ten - C. Ten of one D. One of ten
The stadium was packed with of spectators who came to watch the game.
A. hundreds of thousands B. hundred thousands l

C. thousands upon thousands D. both A and C

The-child knows that is equal to four.

A. two two B. twice two , C. two twice D.  twice twice
I have an appointment on ~ of June at three o’clock.

A. fifth = B. the five C. the fifth A D. five

We didn't arrive at the theatre until : finished.

A. the first act B. act one C. act first D. both A and B
I have been told not to turn on the light with wet hands.

A. hundreds of times B. many hundreds times

C. hundred of times D. a hundred time

1 would have paid for my car, if the salesman had insisted.

A. as twice much B. twice as many



C. twice as much D. two times

13. took part in the celebration held at the end of the year.
A. Three thousands people B. Three thousands of people
C. The three thousand of people . D. Three thousand people
14. Judging by his appearance, he’s somewhere ' L
A. in 40 years old B. in his forties
C. in forty years D. in his forty
15. The test being tough, only of the students have passed it.
A. two third B. two-thirds C. second-three D. second-thirds

iB%(4): WA

R BES: (5) It was not rare in that people in fifties are going to uni-
versity for further education. A. 90s ... the B. the90s... / C. 90s... their D. the
90s ... their 2% D, “20 #4290 £ /K" A the 90s( ¥ the 90’s) & 7 ;“ L+ ¥ A 5t" M
in one’s ... (XF L) AT, ;

MENES. 1. 2F A5 24, TAASCIRAHAHH ik k, RBOAKE 2
J , 4 A $A# A £33, 4o Lesson One, the First Lesson; Room 30, the 30th Roon %,

2. MM RiEEd: SFALK, S BRI, S THRA2 AL, FFHMIEAR s
AFLH, AEXEBH IR, FRAAXFS ", 2ETHE b one-third (173 ),
two-thirds(2/3) ¥, ¥%i&5%,1/2 %8 a (one) half,1/4 K A a (one) quarter,

3. AF“—A%”, A one and a half % one ... and a half,%= one and a half months /one
month and a half[ 5% £33 (month F) W £ A K], AF“—HF " Ba... ortwo[ ZEMA a i
R A one] & one or two, 4= a day or two/one or two days[ i & % i3 (day EATES K- -4

4. #¢3% hundred( F), thousand( ), million( EF)¥,HOARELHHF, 40 one, two
E KR EBE TG LA, A YRR LHH X, do three thousand students, 42 % iX:£- %
AR, EESR of .. B, 3 1R 4% A £ 3, v three thousand of students, ZERAAGY
(W EA several EH4) 228 (AT AFHF) HEFHAR, XXM LM, v several
thousands of students( JUF % 4 ) , thousands of students( & % 4) ¥,

5. 15 hundred #4847, #34 dozen( — 37, +=) #e score( =+ ) , ¥ X &ML A0, RAL
#H X, , 4= two dozen pencils, two score pencils ¥, % TNAERAREERf. .. &, 1R45
A ¥ % , 4= two dozen of pencils, two score of pencils, [ 4244 /A B %8 , 4= two dozens of pen-
cils, two scores of pencils, ] & 7 Z 4 %2 35 89 4 F AW, A I 4K, 4= some dozens of pencils
(JL+ % 48%) ,scores of pencils(-b A+ XL/ HF S4B/ K EBL),
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14.

15.

Unit 5

The turtle’s backbone and breastbone . onthe outside of its -body.
A. is being B. have been C. are - D. is '
Everyone who takes the examination will receive ] score report in six weeks.
A. their B. its C. his D. hers
When a person needs to take his medicine, the directions first.
A. each will have to read : B. one must read
C. you have to read D. he has to read
Neither you nor he in good health at that time.
A is B. was C. are D. were
Either the teacher or the students your books. - .
A. has B. have C. needs D. wants
He is one of the students who hard in the class. ' .
A. studies : B. is studying C. study D. has studied
Every possible means to prevent the air pollution, but the sky is still not clear. .
A. is used B. are used C. has been used D. have been used
Shall we meet at his brother’s which on the other side of the street?
A. stand B. is ‘ - C." are D. are located
Ellen is the only one of those who have graduated who "out of work.
A. are B. have been C. is D. were
The most experienced elected to the leading post.
A. are B. has been C. were D. have been- =
The farmer is not going to sell his cattle which still lean.
A. are B. has been C. is D. has remained
New machinery introduced in the factory to enhance production.
A is B. are C. are being D. have been
Red deer for about 12 to 20 years.
A, lives B. is able to live C. are living D. live
Electronics the basis of all telecommunications systems.
A. have been B. is C. are - D. make *

of every size upon others which are smaller. !
A. Fishes ... prey B. Fish ... prey
C. Fish ... preys D. Fishes ... preys



IE%(S): EB—H

&G : (7) Every possible means to prevent the air pollution, but the sky is
still not clear. A. isused B. areused C. has been used D. have been used &% C, #
3% Every ... means( & — - FR)FIBEEALM U EAEKLER AL L
X,i% C ik A,

IBELA: 1. 3% and R— 4, as well as, together with, along with( F=------ —3#2 ) , rather
than( % F 2 ) ,including %, v £ 2 AKX KA B AL 2BEH, FYH EEGE LMK, do Pe-
ter as well as Tom dislikes studying. [ 7R ] - Peter and Tom dislike studying. ]/Bob, rather than
his elder brothers, was able to solve the problem.

2. % 2ENHIRSHAN, S E LS R FLH 28 KL RAF— K, 4o There is

a pen and some books on the desk. [ There are some books and a pen on the desk. ]/Either you or

he is to blame. [ Either he or you are to blame. ]

3. ATHEER . EZ. 2MF G LEH LK, FF(—MA be) A £ 4, 4o Ninety
minutes is the time limit for the examination. [ 42 Ninety minutes have passed now. ]

4, i and EB G ETIREL(IRE) 4L EN, ZREA—ANA(SAZE) A E
#, 20N BHAA(HRER) WA LH, 5969 £ L BB L, %o The singer and dancer
is quite popular. /The singer and the dancer are quite popular.

5. Wevery... andevery...,each... andeach... ,no... andno... ¥R 45 £
5,338 — M A %3, 4o Every man and every woman enjoys free medical care in this country. /
No teacher and no student is allowed to leave before school is over.

6. W many a 6 LM TH EHAFEEE, B LA LK, B XA LM, 38 A £, 4 Many
a man wishes for such a chance. [ % FMany men wish for such a chance. ]

7. AR ERY LK, ZAHEKHX, 4o trousers/pants(HBF) [ B HFHRAR], D
WRAK, AT RAHR, THBHE$45 pair, X035 65 £ T HA pair 89 £ L HHE
4o The trousers were bought last week. /This pair of trousers was bought last week. /Two pairs of

trousers were bought last week.

8. ATERS(ER)HNHZ(FY),AH EMR, v bread and butter( & €L F= 43 ) ,needle
and thread ( 4+ 4% ) , cause and effect( B &) ,a knife and fork( 77 L) ¥, SN L5 ,58 A
¥ 3,40 A knife and fork is on the table.

9. WAFR NSV “BHRZIV AR FRSELER , AAAREAATH 598
¥ 8 K% A6 ¥ T, 4wOne-third (Two-thirds) of her time is spent in writing. /One per-
cent ( Twenty percent) of the professors are from abroad. /The rest of the money is in the bank.
(The rest of the books are unsold. )

10. A% ¥ ,population( A, 24 A) — A EAR LB S LHKA, FHiIALTE
B ¥ % , 4= What is the population of Europe? (Bk# A 2 % °?)/The population of the earth is
increasing fast. {24 A “ Lo Z JU” ¥ e A 4545 8, population A4 5 K & (48 % T peo-
ple) ,# £i& 8%, 313 B 5L 4, 4o One-fifth of the population here support the new policy. [ 34

« 10 -




3 supports |

11. & more than one( Rik—/~) & one and a half(— AN ) 154665 L /E B, B8
R A % , 399 % %%, 4= More than one man has told me so. /One and a half apples is left on the
table.
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